A W L bl Wi, are still om thi floor.
drew is tidying his toys away. § of his teys are stil
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How many toys does Andrew hove altogether? Explain your onswer.

Total cars = —

#) Do you agres with Yanick?
Prine ousr Onswer,

1 have fownd § of 4% wsing place value counters. L“-z-
11 i thi answer. |-"'f

3) Jomil hos £33

1 spent 4 of my money in & toy shep.

Tamil then spent }.:-jlu chaonge in a sports shop What items did he buy? Use rensondng 1o exploin yower onswer,




1) Two children disoess who would get the most of 48 sweets ovaillable.
Wiha s night? Use bar models to explain gowr answeer.

{-"" If 1 hod § of the sweets,
" T'd howe the most.

Amsley

bofaz= Bof sz e

' ___,fj If I had § of the sweets,
( "“-«I ['d hovve the moot.
L

2] Two shops sell the snme jumper costing £43.
Witeich shop sells the jemper af the cheaper price? Explodn yoisr ansser.

In Shop &, the jwmper is reduced by 4. In. Shop 8, the jumger s rediced by 4.

3) Thie school coumncil howve 70 packs of radsing to sell ot break tire to raise moniy for o school trip.
To raise the most money, should they aim to sell 1 or & of the packs of ralsins?
Explodn ypoier rensonding.

&) How mioy waoys con goa find a undt fraction of L87 One hos been done for o

Jof 48 is 25, 4= &B
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